LABJNDuS triangle lightnesst*
Ync YW

nc=100,

t*LaBINDus =[IN[(A 17+A20Y)V(A 20A0n)] (Ynd/100<Y<=Y, ()
1 (3.6)=327 1+ (18)=744,* (90)=1158

log[t*/t* ,]=0, m;=0,33

t*o=1157,9! , A= 400, ¢=0,6
T 167379 Ar 0011,/:2 =0,
5,327,127 t4; 379\( 18

'Y =18

LABJINDu8
tristimulus value difference
Yoc=Yw - nc=100,
L ABINDug=[IN[(A 10+A2nY)V(A 20A 0n)] (Yad/100<Y<=Y,)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon, Deb‘l 5, Aon,a=1,0, see CIE 230:2019
dYg=0,36, Ay,=1,000, G=0,67
dY;=0,08, A =0, 011 Agn 0,0038
dY3 60,02 Y,=18, d‘(,*

log AY/Y)
S=(AY/Y)

LABJINDu8
tristimulus value sensitivity
Yoc=Yw - nc=100,

L aBINDus=IIN[(A 1n+A2)I(A 2nA0n)] (Yo 100<Y<=Y,0)
AYIY=Ag A1 +AZYVY

(dY/Yy, 00040 A=1,000, ¢=0,67

(dY/Y}g=c.0045, Ar=0,011, 4,=0,0038
(dY/Y} =3 001G 3, —18 AY=0,08

application
range
SRR N

log(dY/Y)=-2,34 rr\l——o el ) s

t*,=744, dY,=0,08 dY,/Y,=0,00451

1v,=18
V=90

Yn=3.6

log (Y/AY)
C,=(Y/AY)

LABJINDu8

tristimulus value contrast
Yac=Yw - nc=100,

L aBINDUs=[IN[(A 1n+A2)I/(A 2nA0n)] (Yae/100<Y<=Y,0)
YIAY=Y/[Agn(A1ntA2RY)]

(Y/dYy=249,21, A,=1,000, ¢=0,67
(Y/dY)g=221,29, A;=0,011, A,=0,0038
(Y/dY 141,84 Y,=18, dY=0,08
=744, dY,=0,08 Y,/dY, 221

A RN

range
Y,=18

u Yw_go'

1

1

1 —

1 application
1

1

e o
Yn=3.6

it
(S

LABJINDuS relative triangle lightnesst*/t*,,
Ync‘YW

nc=100,

t*LaBINDus =[IN[(A 17+A20Y)I/(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
tN(3,6)=327 1 ,(18)=744,t* ,y(90)=1158
t* g/t =1,55, Ayr=1,000, G=0,67

t*14/t*,=1,00, Ay=0,011, e 00038
t*3 gt¥,=0,43, 14,743, 79 Y=1

log[t*/t* ,]=0, m,=0,33
1
1 application
f range
1y,=18
Yy =90

I M\=36

log(A Y/AY i)
AYIAY,

LABJNDuS relative
tristimulus value difference
Yoc=Yw

=100,

t*LaBINDus =[IN[(A 17+A20Y)I(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
AYIY,=AgfA 1 +AgYIdY,

dYoo/dY,=4,43, Ay=1,000, ¢

dY;gd

Y¢/dY,=1,00, A\n=0,011, Az =o,oo
dYsdY,=0,31 Y, 18, dY=0.08

>

>
t* =744 dY,=0,08 dY/vu—O./045 >

log [AYY) I (AYIY),]
SSu=AYN)AYY),

LABJNDuS relative

tistimulus value sensitivity

Yne=Yw nc=100,

t*LaBINDus =[IN[(A 17+A20Y)I/(A 20A0n)] (Ynd/ 100<Y<=Y,,0)

(AY/YYAY Y =(ArtAg Y)Y (AY/Y),]
(dY/Ypo/(dY'Y)-C,28 A.=1,000,

(AY/Y)g/(dY/Y
(dY/Y%vd(dY/Y

¢=0,67
=1,00, A=0,011, A,=0,0038
=1,2% Y.,=18 dY=0,08

log[(dY/YY(dY/Y),]=0, m=-0, 13 1
= application
t*,=744 dY,=0,08 dY,/Y,=0,0045 rapr?ge

1y,=18
Y=90

YN=3.6

log [(Y/AY) I (YIAY),] LABJINDUuS relative
CICy=(YIAY)(YIAY), El(snn;t\;\l/us vaIEe contrast

=100,

t*LaBINDug =[IN[(A 17+A20Y)I/(A 20A0n)] (Ynd/ 100<Y<=Y,,0)

(VY Y(YIAY) =Y IYIAY )T oA g Agr V) (Y/AY),
(YIdYg/(Y/dY)=1,12, Ay=1,000, ¢=0,67

(Y/dY}g/(Y/dY)=1.00, Ar=0.011. A,=0,0038
(Y/dvid(wdv =0,64 Y,=18, dY=0,08

application
range

1y,=18
Yw=90




